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QUESTION 1

Which statements are correct? (Choose 2 answers) 

A. It is possible to deploy a combination of standard TDM PBX(s) and sip server(s). 

B. Genesys SIP server is capable of processing SIP signing and RTP/RTCP streams as well. 

C. Customers who have a legacy PBX deployed and want to deploy Genesys SIP Server have to dismantle their legacy
infrastructure. 

D. SIP Server supports the exchange of early media before a particular session is accepted. 

Correct Answer: BD 

 

QUESTION 2

You have 3 separate remote sites using SIP technology without PBX, One location needs MOH and MCU capability,
second location needs MOH and treatment capability and third site needs MOH and recording capability, what is the
minimal number of Media Servers you need to install? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: C 

 

QUESTION 3

Which protocol is SIP Server using in communication with Media Server? 

A. CTI protocol 

B. T-Lib 

C. SIP 

D. H.323 

E. voice XML 

Correct Answer: D 

 

QUESTION 4
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Which SIP Method is used by Active out of Service Detection to check a device for out of service status? 

A. INFOK 

B. CHECK 

C. MESSAGE 

D. OPTIONS 

E. SUBSCRIBE 

F. PUBLISH 

Correct Answer: D 

 

QUESTION 5

Sip Server 8.x introduced the overload control feature, which allows the specification of a value to limit the number of
interactions SIP Server handles. At what percentage of this value does SlP Server reject all traffic? 

A. 101% 

B. 120% 

C. 130% 

D. 150% 

Correct Answer: B 

GE0-807 Practice Test GE0-807 Study Guide GE0-807 Exam Questions

Powered by TCPDF (www.tcpdf.org)

GE0-807 Practice Test | GE0-807 Study Guide | GE0-807 Exam Questions                                3 / 3

https://www.pass4itsure.com/ge0-807.html
https://www.pass4itsure.com/ge0-807.html
https://www.pass4itsure.com/ge0-807.html
http://www.tcpdf.org
https://www.pass4itsure.com/ge0-807.html
https://www.pass4itsure.com/ge0-807.html
https://www.pass4itsure.com/ge0-807.html

